SR R K
101 25 B RS H A HRA

#8  TEES

— B EEFA—
3R 1 100 548
AT FRREARELEL ' E5E5, LBEE

A2 RIE A




B AFiE A%E 101 2FEERATAANELRXEA
TEMER (THa)

#8:I1RHS
&~ 3R (34100 %)
1. #MRATHFERBHH; TR
(1) 3y'=2% (T#mH F % X Separable Differential Equation)(15
%) ’
(2) xp'-3y=2x’ (#% B F Integrating Factors)(15 %)

(3)  y"-4y=8x"-2x &M (kE 14 # % Method of Undetermined
Coefficients)(15 %)

(4) y'+dy=cost; y(0)=0 (K &ik Laplace Transform)(15 %)

2. FAHEBERHEARIELRKBRTHRRF 24020 %)

X +x,+x,+x,=0
x+x,=0

X +2x,+x,=0

3. AAHBEERBTIERHALQ0 D)

1 2 -1
A=l1 0 1
4 4 5
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1. Solve (1+x)dy—ydx=0 by separation of variables. (129%)

2. Determine whether the given differential equation is exact. If it is exact, solve it.

(x+dy)c+(dx—8y°y=0  (23%)
3. Solve y +4y —2y=2x*-3x+6 by undetermined coefficients. (23%)
4. Solve y +4y +4y=23e™ byinverse operators.  (12%)

5. Solve the following system using the method of LU decomposition
(Gauss-Jordan elimination).  (10%)

x,—2x,+x,=4
-2%, =%, +x,=0
3x,+x, +x,=3

2 1
6. Letmatrix 4= [3 4} . Find (a) the inverse of A, (b) the eigenvalues of A,

(c) the eigenvectors of A. (12%)

7. If $=yz-sinxi+x’-Inyj+e”k, thenfind @V-5,(®)Vxv. (8%)



